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1. STATA

1.1. STATA 433

set  memory 1200m /F W2 Ay
set maxvar 32767

set more off VA= | =S
q /FA™ =l
cd  "D:#NaSTaB" /* CIFER| 2hol*/
pwd /¥ ClIEEZ| M=/

use "NaSTaB08H_s.dta", clear
/" D:WNaSTaBWNaSTaBO8H_s.dta" AtE 4, HE2| Hz|*/

save  "NaSTaBO8H_s_testl.dta" /* NaSTaBO8H_s_testl.dta2 A %&*/

1.2. STATAS] 7|2 AR}

= AMXE  +(add), -(sub), /(div), *(mul), *(power)
A AMXE & (and), [(or), !(not)
ZtA HAEK}E: ==(equal), !=(not equal), < (less than), > (greater than)

<==(< or equql), >==(>or equal)

Run: ctrl + d(EA| A%, 22 A3

Clear : 022 Hg|

1.3. 7I+3 A H 5= (gen, replace, label)

generate hO8hgen=. /* = gy

replace h08hgen=w08gen01 if wO8rel01==1 /* B gh B3k

replace h08hgen=w08gen02 if w08rel02==1

replace h08hgen=w08gen03 if w08rel03==1

replace h08hgen=w08gen04 if wO8rel04==

replace h08hgen=w08gen05 if w08rel05==

replace h08hgen=w08gen06 if wO8rel06==

replace h08hgen=w08gen07 if wO8rel07==

replace h08hgen=w08gen08 if w08rel08==

replace h08hgen=w08gen09 if w08rel09== (A=)
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label variable hO8hgen "[dd®# =] 7t o

label define hgen 1 "&d" 2 "0fd" /5 HA ZE MAL A/
label values hO8hgen hgen VAl BN QS ESIFS E= L)
tabulate h08hgen /* one-way 7|X A HE 4d*Y/
tab h08hgen hs08b10 /* two-way SHE 4/

1.4. $HAPH MM (egen, sum, tabstat)

mvdecode _all, mv(-9)
/* Numeric values £ missing values 2 H2H/

egen exp_food=rowtotal(h08cc002 h08cc004) /F ARE FAYUH[+AH|Y/
label var exp_food "[44d =] AlH|"
summarize exp_food, d /* exp_food = THAEY/

tabstat exp_food, stat(mean) by(h08hgen)
/* Compact table of summary statistics*/

1.5, Hia A2

keep hid08 h08hgen /* keep variables*/
drop if h08hgen== /* Drop observations*/
/*  keep if h08gen==
rename h08hgen male /* Ha= 0|8 HEY
format %10.0g hid08 /[ M50 OFRE =OH 477

/*destring : Convert string variables to numeric variables and  vice versa
tostring : Convert numeric  variables to string variables*/

1.6. 72=PFAa4SA5E

use "D:#WNaSTaBWNaSTaB08P_s.dta", clear

E_J'\_ AHA‘l*/

rir

gen pba=. /* pba 2t
keep pid08 p08bal03* pba

foreach varl in p08ba030 p08bal33 p08ba036{
replace pba=1 if ‘varl'==11

keep if pba==1
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L7 Ae]BAgAN 25

use "D:WNaSTaBWNaSTaB0O8P_s.dta", clear
gen pba=.

keep pid08 p08ba03* pba

replace pba= p08ba032 if p08ba030==11
replace pba= p08ba035 if p08ba033==11
replace pba= p08ba038 if p08bal36==11

keep if pba>0 & pbal!=.

1.8. glo]g A2 ¥HE- long to wide

use "NaSTaBO08P_s.dta", clear

keep hid08 ps08a04 p08bb002 /5 7t id, 7t E B2, 2EAS-Y/
reshape wide p08bb002, i(hid08) j(ps08a04) /* | EH) J(FEX H)Y/

egen p08pinc=rowtotal(p08bb0021 — p08bb0026)

-

label var pO8pinc "[M A% 7Y 2RAS B
keep hid08 p08pinc

save "NaSTaBO8P_s_test3.dta", replace

1.9. golg1x¥H2- wide to long

use "NaSTaBO08H_s.dta", clear

keep hid08 hpid01-hpid09 wO08byr0* /* 7btid, 7FRRlid, EMEsr/
reshape long hpid0 wO08byr0, i(hid08) j(n) /* i(7|&=H==) j(Number of variables)*/

rename hpid0 pid08
drop if mi(pid08) /* Missing values */

save "NaSTaBO8H_s_test3.dta", replace

1.10. Hlojgf = Wk 3§ - AREAG g HE F

i

use "D:WNaSTaBWNaSTaB08P_s.dta", clear
keep pid08 p08bal03*

local k=11

7
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foreach var in p08ba030 p08ba033 p08bal36 {
rename ‘var' ba'k'
local ++k

}

local k=21
foreach var in p08ba032 p08ba035 p08bal38 {
rename var' bak'
local ++k

}

local k=31
foreach  var in p08ba031 p08ba034 p08bal37 {
rename ‘var' ba'k'
local ++k

}
reshape long bal ba2 ba3 ,i(pid08) j(n)

label var bal "HEX|H sgd TF"
label var ba3 "HEX|H dg /M
label  var ba2 "HEX|Y o5 A+ EA(THA)
keep if bal==11
1.11. gjo]g] ¥g - merge
use "NaSTaBO08P_s.dta", clear
isid pid08 /* unique identifiers O{ & Z}tQl*/

merge 1:1 pid08 using  "D:¥#NaSTaBWNaSTaBO8H_s_test3.dta"

/* 1:1, I:m, m:1, mm*/

tab _merge

1.12. djo]g] ¥ - append
use "NaSTaBO07H_s.dta", clear

keep hid07 h07ba001 h07ba002 h07ba003
rename hid07 hid

rename h07ba001 ba001

rename h07ba002 ba002

rename h07ba003 ba003

save "D:¥#NaSTaBWNaSTaB07H_test4.dta", replace

use "NaSTaBO08H_s.dta", clear

keep hid08 h08ba001 h08ba002 h08ba003

A=)
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rename hid08 hid

rename h08ba001 ba001l
rename h08ba002 ba002
rename h08ba003 ba003

save "NaSTaBO8H_test4.dta", replace

use "NaSTaBO7H_test4.dta",clear

append using "NaSTaB08H_test4.dta", gen (t) /* O|O|E| append */
tab t

recode t (0=2013) (1=2014) /F EEHSE J|E ¥/
save "NaSTaBH_panel.dta", replace

1.13. 12 g|o]g setting

use "NaSTaBH_panel.dta”, clear
xtset hid t /* panel data 2 HY, xtset panelvar timevar*/
xtset, clear /* xt MEl X7|51/
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2. SPSS

2.1. SPSS

g

g

et file "D:WNaSTaBWNaSTaBO8H_s.sav".

dataset name testl window = front.

/"HOIH &5 27].

Missing

save outfile "d:#WNaSTaB#NaSTaBO8H_s_testl.sav".
2.2. SPSS 7]& HAMX
A= HAXE S +(add), -(sub), /(div), *(mul), **(exponentiation)
2 |AMXE and, or, not
ZHA AHAEXE =(equal), NE (not equal), LT (less than), GT (greater than)

, < or equal), GE(>=, > or equal)

. sysmis(var), missing(var)

2.3. 7I73A

HZEZ% (compute, if, label)

f
f
f
if
if
if
f
f
f

(w08rel01=1) h08hgen=w08gen01.
(w08rel02=1) h08hgen=w08gen02.
(w08rel03=1) h08hgen=w08gen03.
(w08rel04=1) h08hgen=w08gen04.
(w08rel05=1) h08hgen=w08gen05.
(w08rel06=1) h08hgen=w08gen06.
(w08rel07=1) h08hgen=w08gen07.
(w08rel08=1) h08hgen=w08gen08.
(w08rel09=1) h08hgen=w08gen09.

freq h08hgen.

compute h08hgen=0. /* Create of

var lab h08hgen [MdH=] 714

crosstabs h08hgen by hs08b10.

variable.

/5 if (ZRAAD newvar=34}t.

M, /* variable label.

value lables hO8hgen 1 'Hd' 2 'O{d".

/* Value label H9|, value label & & &t
/* one-way tables of summary statistics.

/*t wo-way tables(A| EAE).
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2.4. SHAMH L ABA (egen, sum, tabstat)

missing values hid08 to HOSLWT (-9).

/* Change numeric values to missing values. missing values all (-9).

compute exp_food=sum(h08cc002,
variable labels exp_food [A4 4] AlH|.
descriptives exp_food.

means exp_food by h08hgen
/cells mean.

save outfile

h08cc004). /*AlZE TQIH|+9Q|AlH|.

/* des exp_food.

/* mean count stddev.

"d:WNaSTaB#NaSTaBO8H_s_testl.sav".

2.5. ¥ A

del var hid08b to version exp_food.

display name.
select if h08hgen=1.

rename var (hO8hgen=male).
formats hid08(f10.0).

/* autorecode version/ into v.
/* alter type v(f1.0).

/* Drop variables.

/* Drop observations.
/* Rename variable.

/* Set variables' output format.

2.6. 7|2 dAZ 234 &

oy

get file "D:WNaSTaB#NaSTaB08P_s.sav”
/keep pid08 p08ba030 to p08ba038.

dataset name test2 4 window = front.
do repeat

varl= p08ba030 p08ba033 p08bal36.
if (varl=11) pba=1.

end repeat.

select if pba=1.

fre pba.

save outfile

/* p08ba030 HE{ p08ba038 Ha= AMEH.

/* repeat varl.

"d:#WNaSTaB#NaSTaB08H_s_test2_4.sav".




AEm'E ClojE 7t3 &1

2.7. AR BAFOI5FY 55

get file "D:WNaSTaB#NaSTaB08P_s.sav"
/keep pid08 p08ba030 to p08bal38.
dataset name test2 5 window = front.

if (p08ba030=11) pba= p08ba032.

if (p08ba033=11) pba= p08ba035.

if (p08ba036=11) pba= p08ba038.

select if not sysmis(pba). /* select if pba gt O .
save outfile "d:#NaSTaB¥#NaSTaBO8H_s test2 5.sav".

dataset close testl.
dataset close test2 4.

2.8. go]lg 1x®st - cases to vars (wide)

get file  "d:WNaSTaBWNaSTaB08P_s.sav"
/keep hid08 ps08a04 p08bb002. /* 7btid, 7h R Bz, 2EAS
dataset name test3_1 window = front.
casestovars
/id=hid08 /F 7= =2
/index=ps08a04. /* AEX He=. "/count=num."
compute p08pinc=sum(p08bb002.1 to p08bb002.6).
var lab p08pinc 7t ¥ & A& T
des pO8pinc.
dele var p08bb002.1 to p08bb002.6.
save outfile "d:WNaSTaBWNaSTaB0O8P_s_test3.sav".
2.9. gloJg JxW¥t - vars to cases (long)
get file "d:WNaSTaB#NaSTaB08H_s.sav".
dataset name test3_2 window = front.
varstocases
/make wO08byr from w08byr01  wO08byr02 wO08byr03 wO08byr04
w08byr05 w08byr06 w08byrQ7 w08byr08 w08byr09
VAl s
/make pid08 from hpid01 hpid02 hpid03 hpid04 hpid05 hpid06 hpid07
hpid08 hpid09
/* 7kl id
A=)
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/keep hid08
/* 7kt id

/null keep.
select if pid08>0. /* missing values.

sort cases by pid08.

save outfile "d:WNaSTaB#NaSTaBO8H_s_test3.sav".

2.10. go]g &= ¥ 28 - vars to cases (long)

get file  "d:WNaSTaBWNaSTaBO8P_s.sav".
dataset name test3_3 window = front.

varstocases

/make bal from p08ba030 p08ba033 p08bal36
/make ba2 from p08ba032 p08ba035 pO8bal038
/make ba3 from p08ba031 p08ba034 pO8bal037
/keep pid08

/null keep.

select if bal=11.

des bal to ba3.

save outfile "d:WNaSTaB#WNaSTaBO8P_s_test3 3.sav".

2.11. gjolg Y3t - merge

get file "d:WNaSTaBWNaSTaBO8P_s.sav".
dataset name test4_1 window = front.

sort cases by pid08.

* Check for unique identifiers.
MATCH FILES
JFILE=*
/BY pid08
/FIRST=PrimaryFirst
/LAST=PrimaryLast.
DO IF (PrimaryFirst).
COMPUTE MatchSequence=1-PrimaryLast.
ELSE.
COMPUTE MatchSequence=MatchSequence+1.
END IF.
LEAVE MatchSequence.
FORMATS MatchSequence (7).

A=)
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COMPUTE InDupGrp=MatchSequence>0.
SORT CASES InDupGrp(D).
MATCH FILES

/FILE=*

/DROP=PrimaryFirst InDupGrp MatchSequence.
VARIABLE LABELS PrimaryLast 'OFX|2} QUX|st= 2 HO|AZ 7J|Eo=2 LIEHHE=
HEA|RF.

VALUE LABELS Primarylast 0 'S& #0O|A' 1 '7|& AHO|A"
VARIABLE LEVEL PrimarylLast (ORDINAL).

FREQUENCIES VARIABLES=PrimaryLast.

EXECUTE.

dataset activate test4_1.

match files /table=* /* M3} OO0 7| & US(table IY 2 ZEQ 0{0FEh.
/file=test3_2
/by pid08. /*7|=H =%,

des w08byr.

2.12. gJo]g ¥3gr - append

get file="d:WNaSTaBWNaSTaB07H_s.sav"
/keep=hid07 h07ba001

/rename = (hid07 h07ba001 = hid ba001 ).
dataset name test4 2 1 window = front.

compute time=2013.

save outfile ="D:WNaSTaBWNaSTaB07H_test4.sav".
get file="d:WNaSTaBWNaSTaBO8H_s.sav"
/keep=hid08 h08ba001

/rename= (hid08 h08ba001 = hid ba001).

dataset name test4 2 2 window = front.

compute time=2014.

save outfile =  "D:WNaSTaBWNaSTaBO8H_test4.sav".
dataset active test4 2 1.

add files /file=*

/file=test4 2 2.
fre time.

save outfile ="d:WNaSTaBWNaSTaBH_panel.sav".
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% SAS FE AFLA] STATA gjojg] M AL Hil

3. SAS

3.1. SAS Al

Libname nastab "D:Wnastab"; /*2t0| B B{2| setting*/

DATAFILE= "D:WNaSTaBWNaSTaB0O8H_s.dta"
DBMS=STATA REPLACE;
run;

Proc import OUT= NASTAB.NaSTaB08H_s /*STATA H|O|E mY E2{27|%

3.2. SASO] 7]® SIAbx}

- A= AARXE +(add), -(sub), /(div), *(mul), ~(power)
4 AAMKXE: &  (and), !(not), ~(not)
- SHA HAEXE =(equal), A=(not equal), < (less than), > (greater than)

<=(< or equql), >=(>or equal)

- EUS i ZU + MY HHO|

3.3. 7% A H =% (Data, if, Proc format)

Data nastab..NaSTaB08H_s_test1;
set nastab.NaSTaBO8H_s;

if wO08rel01=1 then h08hgen=w08gen01;
if wO08rel02=1 then h08hgen=w08gen02;
if wO08rel03=1 then h08hgen=w08gen03;
if wO08rel04=1 then h08hgen=w08gen04;
if wO08rel05=1 then h08hgen=w08gen05;
if wO08rel06=1 then h08hgen=w08gen06;
if w08rel07=1 then h08hgen=w08gen07;
if wO08rel08=1 then h08hgen=w08gen08;
if wO08rel09=1 then h08hgen=w08gen09;

label hO8hgen='[generated variable] householders sex’;
run;

Proc format;
value hO8hgen 1="men" 2="women";
run;

Data nastab.NaSTaBO8H_s_test1;
set nastab.NaSTaBO8H_s_testl;
format h08hgen h08hgen,;
run;

hO8hgen=. ; /*h08hgen' 2= ME2 B Y

G/

A




AEm'E ClojE 7t3 &1

Proc freq data=nastab.NaSTaBO8H_s_testl; /*one-way tables of summary statistics*/
tables h08hgen;
run;

Proc freq data=nastab.NaSTaBO8H_s_testl; /*two-way tables of summary statistics*/
tables hO8hgen hs08b10;
run;

3.4. SFAF Y~ A (label, Proc means, Proc sort)

Data nastab.NaSTaBO8H_s_test1;
set nastab.NaSTaBO8H_s_testl;
exp_food=sum(of h08cc002 h08cc004); /*AlZEH|+ 2AlH|*/

label exp_food="[generated variable]food expenses";
run;

Proc means;
var  exp_food;
run;

Proc sort; /*Compact table of summary statistics*/
by h08hgen;
run;

Proc means mean; /*mean Bt 3t/
var exp_food;
by h08hgen;
run;

3.5. ¥ Ag] - keep, drop

Data nastab.NaSTaBO8H_s_testl;

set nastab.NaSTaBO8H_s_test1;

keep hid08 hO8hgen; /*keep variables*/

if h08hgen=2 then delete; /*drop observatio and keep if h08gen=1*/
rename h08hgen=male; /*Rename variable*/

format hid08 best10.; /*Set variables' output format*/

run;

36. 71AwYAF 237 £

i

Proc import OUT=  NASTAB.NaSTaBO8P_s J*STATA HJO|H £3{<27]%/
DATAFILE= "D:#WNaSTaB#NaSTaB08P_s.dta"
DBMS=STATA REPLACE;
run;

Data nastab.NaStaBO8P_s_test1; /*NaStaBO8P_s_testl 2 X Z&H*/
set nastab.NaStaBO8P_s;

A=)
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pba=;
keep pid08 p08ba030-p08bal38 pba;

array var{3} p08ba030 p08ba033 p08bal36;
do i=1 to 3;

if var[i]=11 then pba=1;

end;

if pba=1;
run;

3.7. ARIEEAN 2F

Data nastab.NaStaBO8P_s_test2; /*NaStaB08P_s_test2 2 O|O|E XAt/
set nastab.NaStaBO8P_s;
keep pid08 p08ba030-p08bal38 pba;
if p08ba030=11 then pba=p08ba032;
if p08ba033=11 then pba=p08ba035;
if p08bal036=11 then pba=p08ba03s;

if pba>0 & pbar=0;
run;

3.8. glo]g L& W3t - wide transpose

Data nastab.NaSTaBO8P_s_test3;
set nastab.NaSTaBO8P_s;
keep hid08 ps08a04 p08bb002;
run;

Proc transpose data=nastab.NaSTaBO8P_s_test3
prefix=ps08a04 out=nastab.NaSTaBO8P_s_test3; /*[|O|E 444 —NaSTaBO8P_s_test3*/
by hid08;
var p08bb002;
id ps08a04 ;
run;

Data nastab.NaSTaB08P_s_test3;
set nastab.NaSTaBO8P_s_test3;
p08pinc=sum( of ps08a040001 - ps08a040006);
label p08pinc="[generated variable] sum of family members' income";
keep hid08 pO08ping;
run;
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3.9. glo]g & "3t - long transpose

Data nastab.NaSTaBO8H_s_test3;
set nastab.NaSTaBO8H_s;
keep hid08 hpid01-hpid09 w08byr01-w08byrQ9;
run;

Proc transpose data=nastab.NaSTaBO8H_s_test3
out=nastab.NaSTaB08H_s_longh prefix=hpid;
/*variables (hpid01-hpid09) were transposed*/
by hid08;
var hpid01-hpid09;
run;

Proc transpose data=nastab.NaSTaBO8H_s_test3
out=nastab.NaSTaBO8H_s_longw  prefix=w08byr;
by hid08;
var w08byr01-w08byr09;
run;

Data nastab.NaSTaBO8H_s_test3;

merge nastab.NaSTaBO8H_s_longh (rename=(hpid1=pid08) drop=_name_)
nastab.NaSTaBO8H_s_longw (rename=(w08byrl=w08byr));

by hid08;

hmember_number=input(substr(_name_, 7), 5.);

label hmember_number="family member number";

drop _name_;

if pid08=. then delete;

run;

3.10. djo]g] ¥ - merge

Data nastab.merged;
merge nastab.NaSTaBO8P_s nastab.NaSTaBO8H_s_test3;
by hid08;
run;

3.11. glo]g] ¥ - append

Proc import OUT= nastab.NaSTaBO7H_s
DATAFILE="D:¥#NaSTaBWNaSTaB0O7H_s.dta"
DBMS=STATA REPLACE;
run;

Data nastab.NaSTaBO7H_test4;
set nastab.NaSTaBO7H_s;
keep hid07 h07ba001 h07ba002 h07ba003 t;
t=2013;
(A=)
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rename hid07=hid;
rename h07ba001=ba001;
rename h07ba002=ba002;
rename h07ba003=ba003;
run;

Data nastab.NaSTaBO8H_test4;

set nastab.NaSTaBO8H_s;
t=2014;
keep hid08 h08ba001 h08ba002 h08ba003 t;

rename hid08=hid;
rename h08ba001=ba001;
rename h08ba002=ba002;
rename h08ba003=ba003;
run;

Data nastab.panel;

set nastab.NaSTaBO7H_test4 nastab.NaSTaBO8H_test4;

run,




